> A
A & 0l & AF 2 E A A
20228 =04 LB sEII=d sEXNE=R
N sI)I=) sEXNEZ
MY =9)|223 Y A2s0 |4
ool SEXE JIS2E Y sYolEsy (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sHJI=% sEN= 33,048,031 29,928,926 3,119,105
= 16,316,729
s 4,144,000
J| 12,750
< 12,574,552
sdllzsE2 ¥ 2= 84 32,921,941 29,762,551 3,159,390
= 16,316,729
s 4,144,000
J| 12,750
< 12,448,462
sEXNE Jsds & sgelEsy 8,087,909 10,577,087 AN2,489,178
= 1,067,800
s 3,374,000
< 3,646,109
sZJl=2sAY 438 X 66,738 43,873 22,865
201 Let24d] 50,560 33,660 16,900
01 At 22l 28,560 33,660 25,100
OsglleEg g2xad 28,560,000 28,560
02 =224l 22,000 0 22,000
02323 % HA S 22,000,000 22,000
203 YR =2t 9,675 10,213 A 538
03 Al =AY R =& 9,675 10,213 A 538
OsZXd g2F4 4,275,000 4,275
Osgllsid g2=2 1,350,000 1,350
OsEXd d2F8 1,350,000 1,350
Osgelusg 2= 1,350,000 1,350
OJlsEg g2xad 1,350,000 1,350
405 XtatE SHI 6,503 0 6,503
01 XML = ZH SHI 6,503 0 6,503
OAMREE e 235 7L 6,503,000 6,503
sEXNE 2493 & d25 542,900 274,703 268,197
307 gl2tol & 2,550 3,000 A 450
02 It M AMHEE 2,550 3,000 A 450
OMsZll=2gd & sH2d /35
2,550,000 2,550
308 AHAIEHHSOIA 402,650 118,703 283,947
01 HXNHHBHELS 402,650 118,703 283,947
O8@d=d sEXNE 843 XI& 106,650,000 106,650
OHEHNMAZ2AAZ XA 146,000,000 146,000
OEdofiHESS XA 150,000, 000 150,000
403 MtXSHHS =0l & 137,700 153,000 A 15,300
01 AXSHMA=2E X 137,700 153,000 A 15,300




2N
X ZH -
L= B

el

SeleR SENER

So)2E3 ¥ MRS 84
- =

SEXNEC Js2s L SYoAASH

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONZseIlsdH Jlstgs AIERS
68,850,000 68,850
OXNYGES ASAS HLAY 68,850,000 68,850
sl 243 28,873 33,505 A4,632
201 L2l 14,850 14,680 170
01 At 22l 9,350 9,180 170
OS¢32 S94 2 523E 2202 N
9,350,000 9,350
02 2324l 5,500 5,500 0
OsgEE2 S NERI 2L 5,500,000 5,500
206 M= Hl 941 1,045 A 104
01 =8l 941 1,045 A 104
O=sgds=222d9 Mz+d 941,000 941
308 XX EHSOIA 13,082 17,100 24,018
01 HXNHHNBNEES 13,082 17,100 N4,018
O=sg8Jl=s 88 s N3 13,082,000 13,082
sEMEMNY SF Iz 88 N (%) 7,200 7,200 0
= 3,600
< 3,600
202 044l 7,200 7,200 0
= 3,600
< 3,600
01 SLHOIYI 7,200 7,200 0
OsEXEANY 255 X& 7,200,000 7,200
= 3,600
< 3,600
sEMEMNY & J2XT 85 N (ANZ2E4) 52,500 52,536 A 36
= 52,500
308 MXIEHMSOIH 52,500 52,536 A 36
= 52,500
01 HXNHHNBHELS 52,500 52,536 A 36
Os=sEZEANY &3 XA 52,500,000 52,500
= 52,500
slsd sEXNT x4 (E) 1,000,000 200,000 800,000
s 500,000
< 500,000
401 Al HIZ 201 Y] 1,000,000 0 1,000,000
s 500,000
< 500,000
01 A& HI 1,000,000 0 1,000,000
Os&X&EJIgxs 1,000,000, 000 1,000,000
s 500,000
< 500,000

N




2AM: sglIsd sEXNE3
M =9J|282 U MRSl |4
B9 SEXNE JIS2AH L SN CUR-E)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
sgJ2d sEXNT JIEEH (AZXE) 2,874,000 3,561,000 A 687,000
= 2,874,000
403 XXM S X201 2,874,000 3,561,000 A 687,000
s 2,874,000
01 AXSHMA=2E = 2,874,000 3,561,000 A 687,000
OSEXNTIUEL(ANZHEH-BS)
2,874,000,000 2,874,000
= 2,874,000
Ne32d desday NA(R) 53,400 53,000 400
= 26,700
< 26,700
201 Let24d] 24,600 24,200 400
= 12,300
< 12,300
01 At 22/l 24,600 24,200 400
OXNEZSRH A u= 24,600,000 24,600
= 12,300
< 12,300
202 o4dl 28,800 28,800 0
- 14,400
< 14,400
01 = LH o4 1l 18,000 18,000 0
OXNEZRd AL W=sAH 10,000, 000 10,000
= 5,000
< 5,000
OdEzsgiig gs X 8,000,000 8,000
= 4,000
< 4,000
03 22AH R0 bl 10,800 10,800 0
OsZXc32d A= (XLRNSUH)
10,800, 000 10,800
- 5,400
< 5,400
N8Rl H2sHEANA(ANZEA) 151,500 151,500 0
= 151,500
308 XXM SO0 A 151,500 151,500 0
= 151,500
01 IXNHHBMNEES 151,500 151,500 0
OXNEZRd MY u= 59,900, 000 59,900
= 59,900
OdEsgiig gs N 66,000,000 66,000
= 66,000
OsENE322 HAd(XeEHsny)
25,600,000 25,600
= 25,600




2AM: sglIsd sEXNE3
M =9J|282 U MRSl |4
ool SENE JIs2s L sy CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
sI|=dH W= ASZ 2 N3 (ANZXH2) 100,000 200,000 A 100,000
= 100,000
403 XHXI SIS Xt =201 ™ 100,000 200,000 ~100,000
= 100,000
01 AXSHMA=2E = 100,000 200,000 A 100,000
ONstIsaSANEE 2 100,000, 000 100,000
= 100,000
dis B4 NA(Z) 20,000 20,000 0
= 10,000
< 10,000
201 L2l 20,000 20,000 0
= 10,000
< 10,000
01 At 22l 20,000 20,000 0
OE=sIHIL=s)2d 3 20,000, 000 20,000
= 10,000
< 10,000
Asrs SN 196,000 168,000 28,000
= 196,000
308 KXIEH S0l 196,000 168,000 28,000
= 196,000
01 IXNHHEBAMNEES 196,000 168,000 28,000
OdE=sIH(Zdrs) 23t 196,000, 000 196,000
= 196,000
Zdis A2l 2 HIXE(E) 32,000 24,000 8,000
= 16,000
< 16,000
201 £B-2dH| 32,000 24,000 8,000
= 16,000
< 16,000
01 At 22l 16,000 10,000 6,000
OZaxrs 84 29 S 16,000, 000 16,000
= 8,000
< 8,000
03 #AL2Z Hl 16,000 14,000 2,000
OZd4as 4210 dAFA 16,000, 000 16,000
= 8,000
S 8,000
2Ahs Arg2el ¥ HIOIXE(AZE ) 70,000 70,000 0
= 70,000
308 XX EHH SOl A 70,000 70,000 0
= 70,000
01 AXSHBLELS 70,000 70,000 0
da=s Algael ¥ oK 70,000, 000 70,000

_4_




SN sgllzd sEXAR
MY =9)|223 Y A2s0 |4
ool SEXE JIS2E Y sYolEsy (sl &2)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 70,000
SOl StSHH 4 901,630 1,056,710 A 155,080
201 gEt24y| 8,000 8,000 0
01 AF 2t 2| H| 8,000 8,000 0
OFFETsHolg 2 2H e 8,000,000 8,000
307 2iztol & 222,260 434,340 A 212,080
02 QIZ2IA AAIE E X 118,260 131,400 A 13,140
O sgolstscH U =X
118,260,000 118,260
04 QIZESHALAIE B2 X 104,000 302,940 A 198,940
O sgolssc AKX 104,000,000 104,000
308 XX SHHSOIH 484,370 478,370 6,000
01 AIXSHMENEXZ 484,370 478,370 6,000
OANZ sgolststH s & 243 X
478,370,000 478,370
OMEINANG UZSH A2 6,000,000 6,000
403 XX SHHS K20 & 187,000 136,000 51,000
01 XIS AZ2E X 187,000 136,000 51,000
OANZ =golstsSCH JlsAlY 136,000,000 136,000
OFUZEL2Y ARG METHHH & Ald|s AA
[ 36,000,000 36,000
OsZ=XNZ A PLSOHES M MG AIHAIS
15,000,000 15,000
E2Y =0 AN S4H(E) 6,000 6,000 0
= 3,000
& 3,000
201 2Et24A Y| 6,000 6,000 0
= 3,000
& 3,000
01 AP 2t 2] d| 6,000 6,000 0
OES8Y sgol AR AM =4 AIR222]
6,000,000 6,000
= 3,000
= 3,000
E=2Y oo ARZAXY A (Al2) 30,000 30,000 0
= 30,000
308 XHXIGHH SO0l & 30,000 30,000 0
= 30,000
01 AIKISHHENEXZ 30,000 30,000 0
OE2Y =20 A2 AXY S (AZ)
30,000,000 30,000
= 30,000
E2Y oo dARQZAM sS4 (812) 46,000 50,000 A 4,000




SN sgllzd sEXAR
M sgllsE2 ¥ dEsgo 84
Sel SEXNG JISUE U sAASY (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 23,000
= 23,000
307 glz2tol & 46,000 50,000 A 4,000
2 23,000
= 23,000
04 QIZFHALAIH 2 = 46,000 50,000 24,000
OB=2% =90 HIPAN S&(UH)
46,000,000 46,000
= 23,000
= 23,000
S0 sEdH nEed N (%) 19,600 19,600 0
= 9,800
S 9,800
201 ¢4l 8,000 8,000 0
= 4,000
< 4,000
01 At 2t 2l 3,000 3,000 0
O&t=4-H DX S22 AM 3,000,000 3,000
2 1,500
= 1,500
03 &AL Gl 5,000 5,000 0
Osgt=4-H UsX dAM2S 5,000,000 5,000
= 2,500
= 2,500
202 Oddl 11,600 11,600 0
= 5,800
< 5,800
01 = LH 4 bl 11,600 11,600 0
OsEXNEXN 28us X 1,600,000 1,600
= 800
< 800
Ogt=4-H =X X 10,000, 000 10,000
= 5,000
< 5,000
S0l sEdH nE2g XJ(AZ) 36,700 32,000 4,700
= 36,700
308 AHAIEHHSOIA 36,700 32,000 4,700
= 36,700
01 HXNHHNBHELS 36,700 32,000 4,700
SENCH HNE 12,000, 000 12,000
= 12,000
O4-H 2du= 14,200,000 14,200
= 14,200
OMEINCH=sE0deld) ¥Eus
10,500, 000 10,500
= 10,500




<

n0

Kio

Hl w

557,408
AN5,947
147

AT

A 4,800

AN 405

A 405

150,000

160,000

45,690
63,690
A 18,000

368,070

368,070

H3r
Wikd
RIS

8,000

8,000

8,000

952,460
38,550
7,650

30,900

4,050

4,050

111,300

15,300

96,000

160,010
125,010

35,000
638,550

638,550

Off &t 24

8,000
4,000
4,000
8,000
4,000
4,000
8,000
8,000
4,000
4,000

1,509,868

mr

H

)

H

fir

32,603
6,503

6,503
26,100

26,100
3,645

3,645

3,645
261,300

15,300
15,300

246,000

96,000
150,000
188,700
114,750

22,950

51,000

17,000

17,000

205,700
1,006,620

1,006,620

400,000

606,620

.

~J
ol

oM

80
0K
0
El

=

ol
{0
ol

ol
3l
Ho

307 21201 &

8,000,000

0
0F

o)
ol

Il

01 At 2t 2l |

[}

o
i

K0
0

<

o
K0
!
a0

jut]
R0

6,503,000

30
U

10

o
o

K0
0

<

3o
K0
!
a0

jut]
R0

26,100,000

o
[

=[DN|

<A

t

SH
S

09

<N
50

o
o

K0
0

<

3o
K0
o)
D

jut]
RO

3,645,000

307 21201 &

Ki
iy
&l

<0
0
~J

oJ

15,300,000

=

2|

=

=Y

Odl7 & 0lg4-Hal

10

=

96,000,000
150,000, 000
22,950,000
51,000,000
mE=
17,000,000

114,750,000

—

=)

Ol &
X201 &

=
=)
=
=)

308 A+XIEHH
403 AbXIEHA|

K1
H

4l Xk =

R
uJ
K

01 &t

400,000,000

of)
Jlgtxd

F

b~
=]

£l

(

w

},

el
s

t

A

sgel

S

©)

606,620,000

Rr
RO
RO
oJ
ol
ol

ol
R0

R0




SN sgllzd sEXAR
MY =9)|223 Y A2s0 |4
Sel SEXNG JISUE U sAASY (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEzgo Zde HO(AM2E 4 135,000 90,000 45,000
= 135,000
308 AHAIEHHSOIA 135,000 90,000 45,000
= 135,000
01 HXNHHBHELS 135,000 90,000 45,000
Ozl ZHANL 135,000, 000 135,000
= 135,000
HA=20 HgLUAY 2F (A2 200,000 0 200,000
= 200,000
403 UtXISHH S0l & 200,000 0 200,000
= 200,000
01 X SHMA=2EE 200,000 0 200,000
OddE=sgol dglletxd 100,000,000 100,000
= 100,000
OH&ESIH JI=0ld 2€st 100,000, 000 100,000
= 100,000
e NEE N s=4g di)|ls B3 18,040,952 13,276,945 4,764,007
2 11,527,850
J| 12,750
=) 6,500,352
NEE ANEAES M2 g 1,869,193 937,215 931,978
201 £B-2dH| 7,290 8,100 A810
03 A2 Z Hl 7,290 8,100 A810
OJis22 s A2EH 7,290,000 7,290
301 LEEAS 5,103 5,670 A 567
09 HALAHIXI &3 5,103 5,670 A 567
OJlzsE32 Us HALHELZ 5,103,000 5,103
308 MtXIEHSOIH 385,300 0 385,300
01 X HHILEES 385,300 0 385,300
OASAS CHEMA Al 285,300,000 285,300
ORele Ed H UES SUHES ANY
30,000, 000 30,000
OH rEda M2l N SAAMY
25,000, 000 25,000
O Mab ZAFH 22 XNJASTALY
30,000, 000 30,000
O1nF0t MaSE XA 15,000, 000 15,000
403 XSS X201 & 1,471,500 923,445 548,055
01 X SHHA2E = 1,471,500 923,445 548,055
OAMZNS HEMA JBEL JEX
67,500,000 67,500
OXNYEHLHs JI=Xd 459,000, 000 459,000
Ot XTIl &t JI=X& 945,000, 000 945,000

_8_




2N
X ZH -
L= B

el

2 S 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
s Aldl=E AY 5,805,500 3,818,000 1,987,500
= 5,805,500
403 XX SHHS K201 & 5,805,500 3,818,000 1,987,500
= 5,805,500
01 XIS RS2 X 5,805,500 3,818,000 1,987,500
O=sgd dMIls AlY 5,805,500,000 5,805,500
= 5,805,500
=3 B MUY A=XH 35,000 0 35,000
= 35,000
403 XX SHS K20 & 35,000 0 35,000
= 35,000
01 XIS AZ2E X 35,000 0 35,000
OC=8 B2 MEHZ
35,000,000 35,000
= 35,000
Moltie JIsXe 607,400 725,985 A 118,585
201 Bt 5,950 6,120 A 170
01 AP 22| H| 5,950 6,120 A 170
OMalits JI=XN&d 5,950
308 XHXIGHHM SO0l & 349,000 439,365 A 90,365
01 HXHHIMNEXS 349,000 439,365 A 90,365
Os&2 oz oz 80,000
Os&2 Yolls 3 179,000
OsatE otd M PL 90,000
403 XX SRS R 20| & 252,450 280,500 A 28,050
01 AIXISHHMA2E X 252,450 280,500 A 28,050
OMaltisS JIsANd" 252,450
HAll=d SEE4A 29 48,000 84,000 A 36,000
= 24,000
= 24,000
201 B9 15,000 15,000 0
= 7,500
& 7,500
01 AP 22| H| 15,000 15,000 0
OWsd=ssdll=X 15,000
= 7,500
& 7,500
202 044l 18,000 18,000 0
= 9,000
& 9,000
01 2L Y| 18,000 18,000 0
OWsd=szI|I=X 18,000




2N
X ZH -
L= B
el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

= 9,000
== 9,000

206 M = Hl 15,000 15,000 0
= 7,500
= 7,500

01 & bl 15,000 15,000 0
OUsd=ss&I)|I=Xd M2 4| 15,000
= 7,500
== 7,500

SellsdlH SHREAA 29 NRA(ANZSY) 293,500 275,500 18,000
= 293,500

308 XX SHHSO0IA 293,500 275,500 18,000
= 293,500

01 IXHHNIMNEXS 293,500 275,500 18,000
Ol==1stdsIs FH| A& 18,000
= 18,000
OXHMEE 29 9,000,000 9,000
= 9,000
OZgddd 29 216,500
= 216,500
OrastdszsA2A 29 50,000
= 50,000

SH2 ARENA 29 1,250,000 1,000,000 250,000
= 1,250,000

403 XX S S K201 A 1,250,000 1,000,000 250,000
= 1,250,000

01 XHNMAHEBE = 1,250,000 1,000,000 250,000
Osdtg M ENA A= 1,250,000
= 1,250,000

S&Z2 gl Hdl X 1,428,000 928,000 500,000
= 1,428,000

308 AHXISHHSOIA 1,428,000 928,000 500,000
= 1,428,000

01 IXHHIMNEXZ 1,428,000 928,000 500,000
Os&2 Y9ols ¢He XA 1,428,000
= 1,428,000

=&E Bolls A 2AN (L) 16,000 16,000 0
= 8,000
& 8,000

201 Bt A H| 16,000 16,000 0
= 8,000
o= 8,000

1 AP 22l ] 8,000 8,000 0
ogdls oz 22X 8,000
= 4,000




2N
X ZH -
L= B

el

sl sENE=
sgllsE2 ¥ dEsdo 84
e NEE AN sHUME HMdls 23

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

< 4,000

02 =224l 3,000 3,000 0
Oddis LHUFEX ¢S5 3,000
2 1,500
= 1,500

03 A2 S HI 5,000 5,000 0
OgolE HE & =M A2 5,000
= 2,500
< 2,500

S&E Yolls A 2 XJ (A=) 146,000 146,000 0
= 146,000

308 A EHHSOIA 146,000 146,000 0
= 146,000

01 HIXNHHNBHNEES 146,000 146,000 0
Oddis HZEE Aca 29 146,000
= 146,000

sHSgols 222 2EXA 37,050 37,050 0
= 37,050

308 XXM SO A 37,050 37,050 0
= 37,050

01 IXNHHBNEES 37,050 37,050 0
Oddis 222 24 N 37,050
= 37,050

2ot/ YoE LM 22 (Al2) 399,500 225,000 174,500
= 399,500

308 XX EHH SOl A 399,500 225,000 174,500
= 399,500

01 AXHHILEES 399,500 225,000 174,500
O=Jt2cigois grMe 29 399,500
= 399,500

Sot2e Holds SHY 2(%) 94,000 0 94,000
= 47,000
< 47,000

101 14 Hl 44,000 0 44,000
= 22,000
< 22,000

04 JIZHHZ22XREES 44,000 0 44,000
O=Jt2cldois &MY 29 2H| 44,000
= 22,000
< 22,000

201 et 41,600 0 41,600
= 20,800
= 20,800

01 At 22l 29,600 0 29,600




A s8Iz sEXNE=2
MY =9)|223 Y A2s0 |4
Sel: HEY DEN NN S4B MMIE 23 CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
O=Jtzegols SNT =8 Az a4 L M
Z H| 29,600
2 14,800
o=t 14,800
02 22244l 12,000 0 12,000
O=Jt&2galls MY &d KFH 12,000
= 6,000
o 6,000
206 M = dl 8,400 0 8,400
2 4,200
& 4,200
01 X2 H| 8,400 0 8,400
O=Jr&2lgdolE 22 H MHEHl 8,400
2 4,200
& 4,200
U3aY HSAAE 25 80,000 0 80,000
= 80,000
403 XX SHHS K201 & 80,000 0 80,000
= 80,000
01 XIS AS2E X 80,000 0 80,000
Olx=3aY sAAE 25 80,000,000 80,000
= 80,000
Wa=gtaty ZHUH 2ABAZ(E) 1,000,000 0 1,000,000
= 800,000
= 200,000
301 et A= 1,000,000 0 1,000,000
= 800,000
= 200,000
12 JIEtE2 A= 1,000,000 0 1,000,000
OD434E HESI 4243
1,000,000, 000 1,000,000
= 800,000
= 200,000
W4=gtatd ZEEH AMHE SABAZ2(E) 750,000 0 750,000
= 600,000
& 150,000
301 et A= 750,000 0 750,000
2 600,000
& 150,000
12 JIEtE2 A= 750,000 0 750,000
OlxsaY AINHEEsIE 2ABAZ
750,000,000 750,000
= 600,000
& 150,000
IIEER 2HE 53 XY 243,300 349,200 105,900
= 243,300




2N 5YIlER SENAR
MY =9)|223 Y A2s0 |4
Sel: HEY DEN NN S4B MMIE 23 (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
308 XXM SO0 A 243,300 349,200 A 105,900
= 243,300
01 AXNSGHBLEES 243,300 349,200 A 105,900
ONsEhr 255 53 243,300,000 243,300
= 243,300
ZDSE JAUER da J=X& 782,885 981,375 A 198,490
201 LBt 7,650 17,650 A 10,000
01 At 22l 7,650 17,650 A 10,000
OLNSE 30l - F& A X& 7,650,000 7,650
308 XX EHHSOIA 92,855 0 92,855
01 HXNHHBHELS 92,855 0 92,855
Oz NEE QAUSE M J=sEz3(3Y)
20,655,000 20,655
O A 32 E2el AlY
30,000, 000 30,000
ooy zatg Ji=23 MY 15,000, 000 15,000
Ost= =gt 832 dAIUS K& A
20,000, 000 20,000
Oordst 43t 25 ALY 7,200,000 7,200
403 XIS E X201 H 682,380 673,725 8,655
01 X SHHA2E= 682,380 673,725 8,655
Oz NEH JAWSE MM JsE2a (X&)
577,380,000 577,380
O1NF =8 B2 M™Hs JIs22 MY
15,000, 000 15,000
OICTI) =2 TIIMU AE=Y A& AlY
60,000, 000 60,000
OICTII=g8 T ANER24A &5 AtY
30,000, 000 30,000
AE=sY HAEHE Usd =4 206,000 206,000 0
= 206,000
403 XSS A0l & 206,000 206,000 0
= 206,000
01 HIXSHHMA=2EE 206,000 206,000 0
OANE=sY HAEHE wsd Z4(A2)
206,000, 000 206,000
= 206,000
AQESY HAEHE &3 25,000 0 25,000
= 25,000
403 MtXISHH S =0l & 25,000 0 25,000
= 25,000
01 X SHMA=2E X 25,000 0 25,000
OADIESY HAEHE DESHAIR)
25,000, 000 25,000




2N sgII=’ sEXE=2
MY =9)|223 Y A2s0 |4
Sel: HEY DEN NN S4B MMIE 23 CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 25000
GIOIEf DIEF MAIRE 23 100,000 0 100,000
= 100,000
403 XX SHHS K201 & 100,000 0 100,000
= 100,000
01 AIXISHHMA2E X 100,000 0 100,000
OOIOIH 218 MARE HIZ(AlZ)
100,000,000 100,000
= 100,000
NEESHG A2 B (AZ2AE2)(HEAY) 2,440,000 2,440,000 0
403 XX SHHMS K201 & 2,440,000 2,440,000 0
01 XS A2E X 2,440,000 2,440,000 0
OXE&Edgas)|etx s 2,440,000,000 2,440,000
SE0M=E MM B3 AlY 30,600 30,600 0
308 XHXIEHSOIA 30,600 30,600 0
01 AIXSHMEMNEX= 30,600 30,600 0
SZ0ME MBS K& 30,600,000 30,600
SHNE EENZSSQ UHEY SN JsE3 318,120 376,800 A 58,680
308 XHXIGHH SO0l & 6,000 0 6,000
01 AIKISHENEXZ 6,000 0 6,000
Lelsy etE N BT (S2EN)
6,000,000 6,000
403 XX SHHS K20 & 312,120 376,800 AN 64,680
01 XIS A=Z2E X 312,120 376,800 N 64,680
Octd=EAtE SEEA Jl= AlY 312,120,000 312,120
TANE &2 X 25,500 24,000 1,500
J| 12,750
= 12,750
101 21214| 18,200 18,200 0
J| 9,100
= 9,100
04 JIZtHIZ22XNEES 18,200 18,200 0
OXAlE BEZA 8% ol 18,200,000 18,200
J| 9,100
o=t 9,100
201 Bt 5,800 5,800 0
J| 2,900
o= 2,900
01 AP 22| H| 4,200 4,200 0
OZXZANE SEZA AR 22l H] 4,200,000 4,200
J| 2,100
= 2,100




2N sgII=’ sEXE=2
MY =9)|223 Y A2s0 |4
Sel: HEY DEN NN S4B MMIE 23 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 A2 I 1,600 1,600 0
OZANE SEZA SAFREH| 1,600,000 1,600
J| 800
o= 800
405 KHoHFE S HI 1,500 0 1,500
J| 750
& 750
01 XA 2B F S| 1,500 0 1,500
OXANE SEZAF &Hl 2 1,500,000 1,500
J| 750
& 750
==Y 43 J=XLd 10,404 476,220 A 465,816
201 et d| 5,202 9,360 N4, 158
01 AP 22| H| 5,202 6,120 A918
Ox==&243 29 5,202,000 5,202
202 04d| 5,202 6,120 A 918
01 2L I 5,202 6,120 AN 918
SEE M3 22 FA 5,202,000 5,202
SEME Y X 2,703,195 2,179,964 523,231
= 722,500
hag 770,000
o=} 1,210,695
sENE AS 286,510 306,300 A 19,790
201 et 5,400 5,400 0
03 A2 H| 5,400 5,400 0
OsAE JIE2s) 3 SANF 5,400
308 XX SHHSOIH 158,250 140,250 18,000
01 AIXSHMENEXZ 158,250 140,250 18,000
OsdtE JI2 gBeExs & 8248 140,250
OAMEAH EHEN He= 2SS AHY
18,000,000 18,000
403 XX SHHS K20 & 122,860 160,650 N 37,790
01 XIS A=Z2E X 122,860 160,650 N 37,790
OARR B FYH 84 +929 Ny
107,860,000 107,860
OME - A S8 MAS Z2HE AYHAIY
15,000,000 15,000
=0l JIZ2AY R Al EH HA (HEASY) 25,000 25,000 0
403 XX SHHS K20 & 25,000 25,000 0
01 XIS A2 X 25,000 25,000 0
Os=g0l JISAIE & AE &M e X 25,000




N sI)I=) sEXNEZ
MY =9)|223 Y A2s0 |4
ool SEME MY X CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s&E JIEJls EESH(E) 40,000 40,000 0
s 20,000
< 20,000
201 £B-2d| 38,000 38,000 0
s 19,000
< 19,000
01 At 22/l 28,000 28,000 0
Os&t2 I8l d2otes 28,000
s 14,000
< 14,000
03 & Ar2 Gl 10,000 10,000 0
Os&s ItEJls HES A48 10,000
= 5,000
S 5,000
202 O4dl 2,000 2,000 0
s 1,000
< 1,000
01 = LH 4 1 2,000 2,000 0
OsdtE I3l E&Es XA 2,000
s 1,000
< 1,000
saE I8l E2(Az2d ) 120,000 100,000 20,000
s 120,000
308 XXM SO0l A 120,000 100,000 20,000
s 120,000
01 IXNHHMBNEES 120,000 100,000 20,000
Osd&s I3l EES N 120,000
s 120,000
St 1248 OHE JI&X2 (%) 100,000 100,000 0
s 50,000
= 50,000
201 et 90,000 89,000 1,000
s 45,000
< 45,000
01 At 22l 20,000 25,000 25,000
Osltg 3435 88 2 M WA 20,000
s 10,000
< 10,000
03 & Ar2 I 70,000 64,000 6,000
OsJtE JIS45 013HE dM2Y 70,000
s 35,000
< 35,000
202 44l 8,000 10,000 A 2,000
s 4,000
< 4,000




2AM: sglIsd sEXNE3
M =9J|282 U MRSl |4
Chel: sZ=Mdg UMY XA (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH 4 bl 8,000 10,000 A 2,000
O=Jtg JI243 0HHE g2R=2 8,000
s 4,000
< 4,000
301 LPENF 2,000 1,000 1,000
ras 1,000
< 1,000
09 HALAHIX &S 2,000 1,000 1,000
Osllg JI34E 0HE s AdlBa 2,000
s 1,000
= 1,000
sgel &g OHHE JIsE32(A2) 150,000 150,000 0
s 150,000
403 XXM s X201 150,000 150,000 0
s 150,000
01 AXISHA=2E = 150,000 150,000 0
Osgol AnE Y==K 150,000
s 150,000
sENg2E 435 A 128,205 332,322 A204,117
201 L2l 13,437 13,437 0
03 A2 Z Hl 13,437 13,437 0
O=ZEME 29 L3 (ns29)
13,437,000 13,437
301 LEXZ 3,168 5,778 22,610
09 HALAHIX A S 3,168 5,778 AN2,610
O=sZEME 29 L3 (nsadl)
3,168,000 3,168
307 glz2tol & 30,000 21,769 8,231
04 DIZHHALALSE E X 30,000 21,769 8,231
O=Ed=sZ& HEgsts HAEEY 30,000, 000 30,000
403 MtXISHHE X201 E 81,600 163,200 A 81,600
01 AXSHMA=2EE 81,600 163,200 A 81,600
OsZXd 2 HEgk2 E= 81,600,000 81,600
R A 0E AMBEINS JNEUS(T) 4,000 8,000 24,000
= 2,000
< 2,000
201 Let24dH] 4,000 7,000 A 3,000
= 2,000
< 2,000
03 A2 S HI 4,000 7,000 A 3,000
O=ecl & 08 AlSJHE JIsW=E 4,000,000 4,000
= 2,000
< 2,000




N sI)I=) sEXNEZ
IH: sl EE L 250 S4
e sEM4E UMY XN (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
el & 0l AEINS Jzus(AzdY) 35,500 31,000 4,500
= 35,500
308 AHAIEHHSOIA 35,500 31,000 4,500
= 35,500
01 HXNHHBHELS 35,500 31,000 4,500
O=ecl & JIZ2AZ 88 821 22,000,000 22,000
= 22,000
Oyt ey 8=2u=s 13,500, 000 13,500
= 13,500
SEXNFEBEMEI=ES(AZ) 130,000 80,000 50,000
s 130,000
403 A X EHS =0l A 130,000 80,000 50,000
s 130,000
01 X HHMA=E L 130,000 80,000 50,000
OfdZHE =208 22 X 30,000, 000 30,000
o 30,000
Otlssts =% 25,000,000 25,000
s 25,000
ORZ N9 =& 43 50,000, 000 50,000
= 50,000
OHZE 5N &8 M= ME 25,000,000 25,000
s 25,000
sJ SN ASE 2 2= 210,000 100,000 110,000
= 210,000
403 MtXISH S X201 & 210,000 100,000 110,000
= 210,000
01 AXSHMA=2EE 210,000 100,000 110,000
OsZd=2stHd A58 29 <2= 210,000,000 210,000
= 210,000
Issgdy 2= 500,000 0 500,000
= 250,000
< 250,000
101 1A bl 21,580 0 21,580
2 10,790
= 10,790
04 JIZHHZ2Z2XNESE S+ 21,580 0 21,580
OXssgdE el 21,580,000 21,580
= 10,790
< 10,790
201 LBH2EH| 168,420 0 168,420
= 84,210
< 84,210
01 At 22l 48,420 0 48,420
OXmsgddyd ger23dl 48,420,000 48,420




2N 5YIlER SENAR
MY =9)|223 Y A2s0 |4
e sEM4E UMY XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 24,210
= 24,210
03 & Ar2 Z I 120,000 0 120,000
OXssgdy 2208 29 120,000, 000 120,000
= 60,000
< 60,000
401 AIEHIZL 201 310,000 0 310,000
= 155,000
< 155,000
01 A& HI 310,000 0 310,000
OXssgddlH AlI8xd 310,000, 000 310,000
= 155,000
< 155,000
AUs s EYE 55,890 62,400 26,510
201 ¢er24l 10,890 10,890 0
01 At 224l 4,590 4,590 0
OsEXNEANY S8R 4,590,000 4,590
03 &Ar2 Gl 6,300 6,300 0
OsEXNEANY 245 XA 6,300,000 6,300
308 XX EHH SOl A 27,000 30,600 A 3,600
01 HXNHHNBHEES 27,000 30,600 A 3,600
O=sgel soterdze| Jl=Aldg 27,000,000 27,000
403 MHtXSHHSA=0l& 18,000 20,910 A2,910
01 X SHMA=2E X 18,000 20,910 A2,910
Osgel s&g Hol&Ed XN 18,000, 000 18,000
SE 24 SXAAE A (HEAY) 150,000 150,000 0
403 XIS E X201 H 150,000 150,000 0
01 AXSHMA=2EE 150,000 150,000 0
Os& Hz24 S48 AAAIE 150,000,000 150,000
SHES ATAID MY MES(MSAY) 90,000 90,000 0
403 A X EHHS =0l A 90,000 90,000 0
01 X EHHMA=LE L 90,000 90,000 0
Osgas AL ol as AlY
90,000, 000 90,000
225,000 150,000 75,000
= 225,000
403 MtXISH S X201 & 225,000 150,000 75,000
= 225,000
01 X SHHN2E = 225,000 150,000 75,000
ONSE ¥EY A2 MEAY
225,000,000 225,000
= 225,000




2N 5YIlER SENAR
MY =9)|223 Y A2s0 |4
e sEM4E UMY XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CHEAR 2I1IX A8l B3 97,625 50,477 47,148
201 £B-2d| 9,900 10,000 A 100
03 A2 Z Hl 9,900 10,000 A 100
OSHMERN AU L MEJAMRE
9,900, 000 9,900
308 MtXIEHSOIH 27,725 40,477 A12,752
01 HXNHHBHELS 27,725 40,477 A12,752
Ogtn ZA=sg 243 AlY 5,925,000 5,925
OXEE TANsgusZz20d 29 AldY
21,800,000 21,800
403 MtXISHHS =0l & 60,000 0 60,000
01 HIXSHMA2E X 60,000 0 60,000
OAMDLIPEXEA (AFDE ROH0HX] & & D= X
ANEUEA) 60,000,000 60,000
sgous ¥ WSASAE 29Y 55,465 54,465 1,000
101 @144 Hl 22,000 21,000 1,000
04 JIZHHZ22XRHEE S 22,000 21,000 1,000
OdaM2 2 At 22,000,000 22,000
201 Let24E] 29,000 29,000 0
02 2324l 29,000 29,000 0
Odea 28 K= 24,000,000 24,000
OMERN2 S AIEE8 w22 5,000, 000 5,000
206 M= Hl 4,465 4,465 0
01 =4l 4,465 4,465 0
OMaua 298 M=l 4,465,000 4,465
S22 AEHY JIgtxd 250,000 0 250,000
s 250,000
403 XIS E X201 & 250,000 0 250,000
s 250,000
01 X SHHN2E = 250,000 0 250,000
Osdt2 43 It H 250,000, 000 250,000
s 250,000
SHE IS4 E OHAHEII=X& 50,000 0 50,000
s 50,000
308 MtXIEHMSOIH 50,000 0 50,000
s 50,000
01 HXNHHNBHEELS 50,000 0 50,000
OsJtg J1343 0HHE JI=X&
50,000, 000 50,000
s 50,000
s 2 SHAIHLE 4,089,885 3,728,555 361,330
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2N 5YIlER SENAR
M =9J|282 U MRSl |4
Sl S9i0l o SMYIINRS CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 2,998,579
< 1,091,306
dEseUs 90,538 125,855 N 35,317
201 LB-2d| 56,025 55,600 425
01 At 2t 2l 10,625 10,200 425
OEes Ad8us X 10,625,000 10,625
02 2324l 40,000 40,000 0
Ou=sE ANEFH KX 40,000,000 40,000
03 A2 Z Hl 5,400 5,400 0
OdE=sIt 8 ASFHs ns2IH|
5,400,000 5,400
307 gl2tol & 2,000 2,000 0
01 222l 2,000 2,000 0
O=sgelusd oo &tz 2,000,000 2,000
308 XXIEHHSOIA 32,513 68,255 N35,742
01 IXNSHHBNEES 32,513 68,255 A35,742
Osgeluws Hstst X 32,513,000 32,513
H=Us 29 17,820 18,225 A 405
201 Let24d] 17,820 18,225 A 405
03 &AL Z I 17,820 18,225 A 405
OA=sis 24 17,820,000 17,820
SACIUE (AlZHE) 2 X 183,750 183,750 0
= 183,750
308 A EHHSOIA 183,750 183,750 0
= 183,750
01 HXNHHNBHEELES 183,750 183,750 0
Osgeolths 24 183,750,000 183,750
= 183,750
sgollis 29 XA 52,500 42,500 10,000
= 26,250
< 26,250
201 LBH2E| 34,500 24,500 10,000
= 17,250
< 17,250
03 &Ar2 I 34,500 24,500 10,000
O=gollis 2 (28 1) 34,500,000 34,500
= 17,250
< 17,250
202 4l 6,000 6,000 0
= 3,000
= 3,000
01 = LH YI 6,000 6,000 0




2AM: sglIsd sEXNE3
M =9J|282 U MRSl |4
€9 =g ¥ SMUEIAHARE (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Osgelthsr =&l 6,000,000 6,000
= 3,000
< 3,000
301 LENZ 12,000 12,000 0
= 6,000
= 6,000
09 HALAHIX &S 12,000 12,000 0
O=goltHs (28t0) M 4 12,000,000 12,000
= 6,000
= 6,000
SsgJ|lsdlH sl 8208 A& 158,240 154,500 3,740
= 158,240
308 XX EHH SOl A 158,240 154,500 3,740
= 158,240
01 AXSHBLELS 158,240 154,500 3,740
Osgllzs d2u=s XA 158,240,000 158,240
= 158,240
sgJ=% sl d2us XA 12,000 11,000 1,000
= 6,000
< 6,000
201 LBH2Z| 12,000 11,000 1,000
= 6,000
< 6,000
03 A2 Z Hl 12,000 11,000 1,000
ONE2sdI)I=us 12,000, 000 12,000
= 6,000
< 6,000
=0 ABus 29 82,820 77,394 5,426
201 L2l 60,000 51,000 9,000
01 At 22l 60,000 51,000 9,000
Osgeolus 24 60,000, 000 60,000
206 M=t 5,000 8,574 A3,574
01 =8l 5,000 8,574 A3,574
Osgeolus sz 24 5,000,000 5,000
301 LEEAS 17,820 17,820 0
09 HALAHIX RS 17,820 17,820 0
O=sgeol usd g4 17,820,000 17,820
ICT ADIEE &&2Jls U= 18,360 16,480 1,880
201 et 12,600 10,710 1,890
01 At 22l 12,600 10,710 1,890
OICT ADIEE® &80l U 29
12,600,000 12,600
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sz sEXE=2
S9)l&23 L MR
Soiol o SAIIHDS cHol A E)
- _ _ RE]
S =B .o (3 ) HAS gﬁ‘&i HR=2
206 M = Hl 3,600 3,610 A 10
01 X2 H| 3,600 3,610 A 10
OICT ADtEZ 22 ==
3,600,000 3,600
301 et A= 2,160 2,160 0
09 HAIAHI X & 2 2,160 2,160 0
OICT AQIE®Z &= Al
2,160,000 2,160
SOOI AEUHE 2FE X 960,733 960,648 85
= 654,839
o= 305,894
307 212t0| & 960,733 960,648 85
= 654,839
=} 305,894
02 QIZHE AAIE 2 X 960,733 960,648 85
O=sZ0lolAEHHE 960,733,000 960,733
= 654,839
& 305,894
SYIH 29X 141,317 167,323 N 26,006
201 LBt 9| 16,257 19,125 N 2,868
01 AP 22| H| 16,257 19,125 N 2,868
OsgIJIH 82n= 9,754,000 9,754
Osgel JIAHEY %= 6,503,000 6,503
206 M H| 40,698 45,220 N4 522
01 X Z H| 40,698 45,220 N4 522
OsglIH d2us 6,498,000 6,498
Osgdel JIH&EY %= SME
34,200,000 34,200
301 et A =2 6,415 7,128 AT13
09 HALAHI XIS 2 6,415 7,128 AT13
O=sgJIH d2us =4l 5,832,000 5,832
Osgel JlAH &Y =R 583,000 583
308 XX G SOl A 77,947 95,850 A 17,903
01 AIKSHHEMNEX= 77,947 95,850 A 17,903
OsgJllHag N 30,780,000 30,780
O%NIDEs &Y 47,167,000 47,167
SsSHIH o™ WE KA (A 63,000 63,000 0
= 63,000
308 AXIEHSOIA 63,000 63,000 0
= 63,000
01 AIXSHMENEX= 63,000 63,000 0
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2N

X{ XH -
S =

=E 2 s CHel M)
% S 4 14
T B9 (3) - MTAY - BES e HDE2
OsgIAHLE W= 63,000,000 63,000
= 63,000
H etdnsE X 15,000 30,000 A 15,000
= 7,500
= 7,500
Lot 4,300 5,500 21,200
= 2,150
< 2,150
AbS2 2t el 4,300 5,500 A 1,200
OsgINAIN=2H 4,300,000 4,300
= 2,150
S 2,150
(1] 1,500 4,000 A2,500
= 750
< 750
=L O HI 1,500 4,000 A2,500
OsgllAlIssadd N Y AAZXT Kb
1,500,000 1,500
= 750
S 750
T = dl 6,800 10,300 23,500
= 3,400
S 3,400
2 4l 6,800 10,300 23,500
sEIAII=2H =M=
6,800,000 6,800
2 3,400
< 3,400
YpEE3 2,400 10,200 A7,800
= 1,200
£ 1,200
HALAHI K& = 2,400 10,200 AT7,800
OsgIlAINE2H
2,400,000 2,400
= 1,200
< 1,200
22 A NS (MR 80,000 129,500 249,500
= 80,000
403 XX EHH S X2 0l 80,000 129,500 A 49,500
= 80,000
01 XA 22 X 80,000 129,500 249,500
OuUEE sYIIAXN 80,000,000 80,000
= 80,000
SAIH NE (= 60,000 72,000 ~12,000
=2 30,000
= 30,000
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2N sgII=’ sEXE=2
MY =9)|223 Y A2s0 |4
Sl S9i0l o SMYIINRS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
405 XHA&HF S HI 60,000 72,000 A 12,000
= 30,000
& 30,000
01 AL 2 ZF S| 60,000 72,000 A 12,000
Oonsg sgYIAXNH 60,000,000 60,000
= 30,000
=} 30,000
Hs=s - HE XS 109,832 379,980 AN 270,148
201 gEt24H Y| 17,505 17,505 0
03 Al A H| 17,505 17,505 0
OA=AHE=sS3 &I S 17,505,000 17,505
308 AMXISHMSOIA 92,327 185,475 AN 93,148
01 AIXSHMENEXZ 92,327 185,475 N 93,148
OANT HAsIdHH 29 40,647,000 40,647
OHAsHEL MsIE 4535 13,655,000 13,655
Osd A=sAHEQ MUoIs 22 K&
14,025,000 14,025
OA=sH=QI W XAF0IZ2O HSEAIY (D
Z20) 18,000,000 18,000
ODIZSeS 0188 S0 HE Ta2ME (S
OlEO) 6,000,000 6,000
MASAHA(ASHE) 9s)IXD|sWs NH(E) 38,400 30,000 8,400
= 19,200
& 19,200
201 et 26,000 20,000 6,000
= 13,000
& 13,000
03 A2 HH| 26,000 20,000 6,000
OH=sQ Es)xDNsns 29 26,000,000 26,000
= 13,000
& 13,000
202 o4 | 10,400 8,000 2,400
= 5,200
& 5,200
01 2L I 10,400 8,000 2,400
O I |IxDN=nNsE 2=
10,400,000 10,400
= 5,200
= 5,200
301 et A= 2,000 2,000 0
= 1,000
= 1,000
09 HAIAHI X & 2 2,000 2,000 0
O=s0 d=)x)=0E 24Hl S
2,000,000 2,000
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2AM: sglIsd sEXNE3
M =9J|282 U MRSl |4
Sl S9i0l o SMYIINRS CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 7,000
< 1,000
MAsA(AsHE) IIxdsII20s NA (M) 103,300 90,000 13,300
= 103,300
308 XXX SO0 A 103,300 90,000 13,300
= 103,300
01 AXSHBLEELS 103,300 90,000 13,300
Odtnsge sl us 103,300, 000 103,300
= 103,300
MASYA(AsHE) dEs) & & ASuUs (M) 240,000 234,000 6,000
= 240,000
308 XXM S0 A 240,000 234,000 6,000
= 240,000
01 IXNHHBNEES 240,000 234,000 6,000
OdEs)t HASU=S 240,000, 000 240,000
= 240,000
H==g #8435 XA (L) 22,000 22,000 0
= 6,600
= 15,400
201 et 20,000 20,000 0
= 6,000
< 14,000
03 &AL Z I 20,000 20,000 0
OA=&Y 43t XN W= 20,000, 000 20,000
- 6.000
< 14,000
301 LEHZ 2,000 2,000 0
= 600
< 1,400
09 HALAHIX RS 2,000 2,000 0
OF=s&Y g4s NFquNs S4d S
2,000,000 2,000
= 600
< 1,400
Hs&EY 243 XA (M) 92,400 92,400 0
= 92,400
308 XXX S0 A 92,400 92,400 0
= 92,400
01 AXSGHBLAEES 92,400 92,400 0
OA=&Y 43 X2 (A2) 92,400,000 92,400
= 92,400
TAE SERIX X2 1,497,875 828,000 669,875
= 1,302,500
= 195,375
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N sI)I=) sEXNEZ
M sglls22 ¥ dEsde 84
€9 =g ¥ SMUEIAHARE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 1,497,875 828,000 669,875
= 1,302,500
< 195,375
01 HIXNHHBHNEELES 1,497,875 828,000 669,875
OFsHE RXXNE AL 1,497,875,000 1,497,875
= 1,302,500
< 195,375
SN sERIXNA(Z) 50,000 0 50,000
= 25,000
< 25,000
201 L2l 50,000 0 50,000
= 25,000
< 25,000
01 At 22l 40,000 0 40,000
OAsHE HEZFHUS 20,000, 000 20,000
= 10,000
= 10,000
OsZE0MN &0t 22 XA 20,000, 000 20,000
= 10,000
< 10,000
03 &Ar2 I 10,000 0 10,000
OFsHEESE &E3 It 10,000, 000 10,000
= 5,000
< 5,000
HYRIZH (=sLI=2 sEXNER) 126,090 166,375 A40,285
Jl2ddl(sglI2d =s=Xd3) 126,090 166,375 240,285
Jl2dtl(sgllsd sEXd=) 126,090 166,375 A 40,285
201 Let24d] 55,080 81,670 226,590
01 At 22l 55,080 59,670 A 4,590
SEXNJAIRFA 55,080,000 55,080
202 Odl 55,080 59,670 A 4,590
01 = LHA YI 55,080 59,670 A 4,590
SENJALRFA 55,080,000 55,080
203 R =& 15,930 17,385 N 1,455
01 71228 YR =2 5,940 6,270 A 330
O=sZEXNaa=2% 5,940,000 5,940
04 FNSEYE=LH 9,990 11,115 21,125
OJi=Zd 2,700,000 2,700
OJie2=s 1,890,000 1,890
sEXHA 2,700,000 2,700
Ot 2,700,000 2,700
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